AP & A A

SN ALD
Y T2 RAM(RSYSR/EET)
Bl AE ¥ SOHEEZ A CERE)
S - T S2(3) - HIRAIY - BAS 0 et plE<El HlRE2
=i} 49,036,201 28,255,510 20,780,691
= 150,000 150,000 0
< 1,269,000 1,269,000 0
= 930,000 0 930,000
Al 46,687,201 26,836,510 19,850,691
C2 RARR(RSLSR/EE) 22,468,972 9,313,281 13, 165,601
= 150,000 150,000 0
= 170,000 170,000 0
Al 22,148,972 8,903,281 13, 155,601
NE L SOHESR AY 22,024,759 8,882,259 13, 142,500
= 150,000 150,000 0
= 170,000 170,000 0
Al 21,704,759 8,562,259 13, 142,500
c23Y| 6,501,000 3,011,000 3,490,000
401 Al 8122 0HY| 6,501,000 3,011,000 3,490,000
01 AI&H] 6,488,850 3,002,000 3,486,850
OBl S2HQ DIZSX 24
23 250,000,002 250,000 100,000 150,000
0248 IB-UHYR2RHTETE) TRALETA
(=) 10,0008 * 5,000 500,000 0 500,000
OX4+~HB(ZE35) CRALIBAF
100,008 * 3,000m 300,000 0 300,000
ORA X2l SBANC2(FE153) HEH
ZAHHZ
( %)i’éj 700,000,0008 * 144 * 99.37/100 695,590 297,840 397,750
OB S|4 D~SHA2I(RE38) 2T
A 300,000 100,000 200,000
—EXIHY 23 300,000, 0002 300,000 100,000 200,000
ONSH-24W(BE7S) T2 SHTZTA
2 396,000,0002 39,000 9,000 300,000
OB2o Bee| 2585 MYZ HUBA
1,000,0008 * 100m 100,000 0 100,000
OQHEB! AlSHI~QHRHTE3S) HERZAL
23 300,000,002 300,000 100,000 200,000
Ot EE SEI2|(ZE1284) ATEXIBA
JF 200,002 * 500m * 99.10/100 99, 100 10,000 89, 100
OHHSt otalp| BE35HSl 144 SREXIBA
250,000/ + 400m 100,000 0 100,000
OX40 SHIR(ZE55H) HSIMBA
2 200,000,009 200,000 100,000 100,000
ORAES STHI(NLETHS) SHHSTA
6,000,0002 * 100m 600,000 0 600,000
OSSN T2 SLZAER EX|
23 300,000,002 300,000 200,000 100,000
OASZYP YA £XI(20018 Sg
W) 350,000,008 * 14! 350,000 0 350,000
03 Al&=CHHI 12,150 9,000 3,150




SN e
Y £2 SIN(DSLSR/ER)
2ol NS L SHEZZ A (Sr9): 1)
S - T S2(3) - HIRAIY - BAS 0 et plE<El HlRE2
0S4 el se8 15 (25165) H2a
TAHIZ)
2% 700,000,002 * 141 * 0.63/100 4,410 2,160 2,250
OoHEP SE12|(RE1254) AT HXIBA
200,002 * 500m * 0.90/100 90 0 900
EEEY RS 11,068,759 4,328,759 6,740,000
401 AIZBIZ 2T 9,893,000 3,153,000 6,740,000
01 A&t 9,586,990 2,873,000 6,713,990
OANE U SOEEZ AP S43A
23 700,000,002 * 141 * 99.37/100 695,590 400,000 295,590
OANE ¥ SOEEZ =7 FHIBM
247 700,000,008 * 141 * 99.37/100 695,590 400,000 295,590
OANE ¥ s0iEE2 g8+
5,000,002 * 6074 * 99.28/100 297,840 0 297,840
OAIDERl T SM2I| BA
243 700,000,008 * 141 * 99.37/100 695,590 600,000 9,590
OSH 25 U S0EE2 Z& HM2I| SA
213 600,000,002 600,000 200,000 400,000
—THEA A 80,000,002 80,000 40,000 40,000
02021 B2TeH L HHSS=T
213 500,000,002 500,000 50,000 450,000
OYFHIHZIIIMAAT 01 T2 FH|(HH
2|, EXE, oI S)
2% 250,000 * 7,600n * 99.64/100 1,893, 160 100,000 1,793,160
OAZHHUZBIIQMAAT =0 T2 Snmy|
30,0002 * 2,000m * 99.37/100 596,220 0 596,220
02021 AISH AISES FI| o FUXAZ D
2 B42AMED 2 5IH4)
23 500,000,002 500,000 50,000 450,000
02021 AISH ASES FI| o FUXAL D
2 S4BAHED) 600,000 0 600,000
600,000,002 * 14!
Q4T DEEHD-28 D PEDAH(2AR1E SE
22H) 400,000,000 * 14! 400,000 0 400,000
ONER 2222 BAH021E SHDLA)
200,000,002 * 14! 200,000 0 200,000
OYZ HIAEFR ZA IMSI|BAl
213 850,000,002 850,000 50,000 800,000
03 Al&SCH| 306,010 280,000 26,010
OANE U SOEEZ AR H43A
700,000,002 * 14! * 0.63/100 4,410 0 4,410
OANE ¥ S0EEZ =7 HYIBA
700,000,000 * 141 + 0.63/100 4,410 0 4,410
OANE ¥ s0iEE2 g8+
5,000,002 * 604 * 0.72/100 2,160 0 2,160




SN AL
HM: 2 SAALI(WELSE/ER)
SRl AT Y SOHEZZ ALY (B &)
A - M SA(SH) - MEAIY - BES 04| AroH J| &M Hns2
OAIDIR XM LI 2 A
700,000,000 * 14! * 0.63/100 4,410 0 4,410
OLZMHZIIQUMMAL F T2 FH|(HM
I, BXE, 2 E)
250,000 = 7,600m * 0.36/100 6,840 0 6,840
OYFHHZEDIQIAMAT = T2 =FY|
300,000 * 2,000m * 0.63/100 3,780 0 3,780
IIZS(20tS) &X ¥ 24 3,905,000 992,500 2,912,500
401 Al2HI1L 20HYI 3,905,000 992,500 2,912,500
01 Al&dH] 3,901,400 990,340 2,911,060
Ok= JI2E 1A 2 &X
300,000,000 * 14l 300,000 0 300,000
OINRE SHE2 HHZBA
200,000,0002 * 1Al « 99.28/100 198,560 0 198,560
OZEI|S~-EZQUMAIE 22t JI2 F2E &X
8,000,0008 » 60S 480,000 0 480,000
OZAZZNEE A8t =& JI2S Al 2,048,000 115,500 1,932,500
—SAEHOHIIE~H EER A 72t JI2S Wi
EURPNPS ZA 130,000,000 130,000 6,500 123,500
—HP LY E~HSRHAIAE 22 JI2S AlA
L =SJ|7 WA A 85,000,000 85,000 4,500 80,500
—AD~CI2DRE 22 JIRS AA
ZA 104,000,000 104,000 5,500 98,500
—AlQEMEESA P2 JIRE JIA
A3 82,500,000 82,500 4,500 78,000
—AUR~AEFNEIIE1D 22 RS MM
A3 140,000,000 140,000 7,000 133,000
—SADIR~AAUDIR 22 EEBIIRE W
ZA 100,000,000 100,000 5,000 95,000
—SIUHES~HAOHIHE 22+ = BII2E WAl
23 120,000,000 120,000 6,000 114,000
—ZPJHHEYREFERA P2t SRS D
ZA 240,000,000 240,000 12,000 228,000
—SFUXZ~ALSSHE 22t =SR2 Wi
ZA 240,000,000 240,000 12,000 228,000
—E2ARD P2 SIS WH|
23 200,000,000 200,000 10,000 190,000
—SAB2R~EED 22 LEII2E nF
23 200,000,000 200,000 10,000 190,000
—NEESSDAIGOHIE 22 S HIIRE
mbs| 2 120,000,000 120,000 6,000 114,000
—Z)|SAHIE~ZD B P2t LEIIRE
mbs ZA 120,000,000 120,000 6,000 114,000
—=SNXZS~HHIE 72t JIRS AA
A3 154,000,000 154,000 8,000 146,000
03 A& S0HH 3,600 2,160 1,440
OINRE SHAZ HMZBA
200,000,0002 * 1Al * 0.72/100 1,440 0 1,440




SA: AL
By £2 SIN(DSLSR/ER)
el TREE 2 (Er9): &)
A - 3 - SR(ZH) - MRANY - BES Oll &+t JIEN HwsZ
c2xg8 2l 73,213 60,022 13,191
=Ll 53,213 40,022 13,191
101 21218 52,763 39,572 13,191
STEI = =R 52,763 39,572 13,191
OLZHHZIIQANAT SAIE = L&A
2 CANIS S oY
3,280% * 42 * 452 13,191 0 13,191
KRN L (RELTISINL/ X HLEA) 7,176,710 6,126,710 1,050,000
= 782,500 782,500 0
Al 6,3%,210 5,344,210 1,050,000
NEBIEN 6,318,710 5,268,710 1,050,000
= 782,500 782,500 0
Al 5,536,210 4,486,210 1,050,000
ZOIEAY 4,753,710 3,703,710 1,050,000
401 Al&EI L2 TH| 4,698,559 3,648,559 1,050,000
01 AIZH] 4,681,981 3,631,981 1,060,000
OZZH EZMHLALY 20,000,002 * 141 20,000 0 20,000
OAR2 FOIRRIAR, 2 2,000,000,0008 2,000,000 1,000,000 1,000,000
OBIYS 208X 92 SZTHTA
200,002 * 150m 30,000 0 30,000
SENL(SHHYH/ 5L - 5E) 18,506,200 11,931,200 6,575,000
= 286,500 286,500 0
x 930,000 0 930,000
Al 17,289,700 11,644,700 5,645,000
SEPIEEYY 15,336,200 8,761,200 6,575,000
= 286,500 286,500 0
x 930,000 0 930,000
Al 14,119,700 8,474,700 5,645,000
SRlAlE JHEA 3,101,200 2,081,200 1,020,000
401 Al&EI LS THY| 2,350,000 1,330,000 1,020,000
01 AIZE] 2,339, 164 1,319, 164 1,020,000
OYLBIBH X5t BSTA
3,500,000 * 20744 70,000 0 70,000
O%2IAE(BWAZ, 22) RXIZ2 L Y|
30,000,000 * 1074 300,000 0 300,000
OL=XY FHHAE B
100,000,000 * 14! 100,000 0 100,000
OBIIS 01BN =S42IAE FHIBA
2,000,002 * 150m 300,000 0 300,000
OO0lAE! XIS22 BB Hh42 FHIZA
150,000/ * 200 30,000 0 30,000
OF4L ZM32) YHUES U Hh4+2 ZHITA
100,000 * 200m 20,000 0 20,000




S A

rar=inl;

BE: SENY(SYHYLL/ 5 - 5E)
S EEBI[TE 3T (erl: &g
SH - B C(3H) - NRAY - BES Ofl Aok plE-R CImE==h
OZds Zaw o2 815z Na=A
2,000,000 * 100m 200,000 0 200,000
SEFCU=RAY 6,481,000 3,551,000 2,930,000
N 930,000 0 930,000
Al 5,551,000 3,551,000 2,000,000
401 N EBIRL 2] 6,481,000 3,551,000 2,930,000
S 930,000 0 930,000
Al 5,551,000 3,551,000 2,000,000
01 Al&HI 6,454,906 3,525,446 2,929,460
OBJIg 702 BB S2EIBA
400,000& * 100m 40,000 0 40,000
OJIS Wal2e| OIS0 ARIFHIZA
500,000 * 80 40,000 0 40,000
OBJIg aE2l th42 FHIZA
100,000& = 300m 30,000 0 30,000
OJIE 0132l AL2E 2 HABUIAIL
400,000& * 100m 40,000 0 40,000
OZJlg 2H1RI 2N HABA(SEZE D)
7,000,000& * 10m 70,000 0 70,000
N 35,000 0 35,000
A 35,000 0 35,000
OZJlg 32Uzl 2 A JIEHAIE FHHIBA
(SEXIR=3) 50,0002 * 1,000m 150,000 0 150,000
S 75,000 0 75,000
Al 75,000 0 75,000
OOI&H2 BAH12] OI20H 9 14 OtAR
MR SAL 150,000& * 400m 60,000 0 60,000
O0I&HB AIF22| M3 DF20HY EHIZAL
250,000& = 200m 50,000 0 50,000
O0IME B42| 42 SXITA
500,000 * 200m 100,000 0 100,000
O0IAP! BaHEl SR B4R HHIZA(SE
EPSIME=) 100,000& = 300m 30,000 0 30,000
EN 15,000 0 15,000
Al 15,000 0 15,000
OO0IM 2202| BB 52 FUIBM(SE
ENPSIMES=) 250,000& = 200m 50,000 0 50,000
N 25,000 0 25,000
Al 25,000 0 25,000
O0l&tpt 2202 22X 212 Hi42 HHIBA
(SExIR=3) 100,000 * 250 25,000 0 25,000
B 12,500 0 12,500
Al 12,500 0 12,500
O0l&Et S-12] BIEIR 9 14 52 HHIBA
(EExZNFI) 300,000& = 100m 30,000 0 30,000
EN 15,000 0 15,000
Al 15,000 0 15,000
OOIAH3 S82| PIT 1015 SRAI HHIBA
(SExR=3) 1,200,000 * 100m 20,000 0 120,000
= 60,000 0 60,000




SN e
BE: SENL(SYHYLL/SY - 5E)
Shol: Sei|BIEY (Sr9): 1)
S - BB O(BH) - HRAY - BES Ofl At plE<Ll HRE2
A 80,000 0 60,000
OB [212] DEAID0IEY OI2er Fy|
A 2,000,002 * 20 40,000 0 40,000
Ome LS 2 01202 0jAZ HM2))|
A 20,0002 * 500m 100,000 0 100,000
OTSP H=02| SAS GHOIL ARIEHIBA
375,002 * 80 30,000 0 30,000
OB 2232 THHOIY DIS A I
2N 50,0002 * 60 30,000 0 30,000
om0 33| SE0I2 BATHIBAH(SE
ESTMEEY 20,0002 * 100m 20,000 0 20,000
x 10,000 0 10,000
Al 10,000 0 10,000
OmSe Y212l 2318 42 FHITAH(SH
ESTE Y 50,0002 * 200m 30,000 0 30,000
x 15,000 0 15,000
Al 165,000 0 15,000
02481 ZHI12| OIS 9 OLAR HMSIIBA
(SEXZRe3) 50,0002 * 400m 60,000 0 60,000
x 30,000 0 30,000
Al 30,000 0 30,000
OB401 £832] PYB YN SZAR FHIBA
1,000,002 * 100m 100,000 0 100,000
OR4P SH22| REASIH =2EHIZANSE
ESSmE =Y 480,002 * 250 120,000 0 20,000
x 60,000 0 60,000
Al 60,000 0 60,000
OF4P 3DI22] 201 LA OLARHMS)|
ENIEEE S InE=) 100,002 * 400m 40,000 0 40,000
x 20,000 0 20,000
Al 20,000 0 20,000
OF40I S712] LX0H 212 OLARHMSI)|
EWIEEESInt ) 100,0002! * 600 60,000 0 60,000
= 30,000 0 30,000
Al 30,000 0 30,000
OF4p SH2| 48HK LY SREIBA(SE
ZHD23) 200,00024 * 300m 60,000 0 60,000
x 30,000 0 30,000
Al 30,000 0 30,000
OB4B HR12| 2B LA ARITHIBAH(SH
ESSINLE) 400,0002! * 50 20,000 0 20,000
= 10,000 0 0,000
Al 10,000 0 10,000
OF40! THIR| U2 2R Bi42 FUIBA
(S2xzDL3) 100,002 * 160m 16,000 0 16,000
= 8,000 0 8,000
Al 8,000 0 8,000
OF4p SH2| 9K L2 Bi42 FYIZA
(SExZDLI) 100,002 * 240m 24,000 0 24,000
x 12,000 0 12,000
Al 12,000 0 12,000




2A: AL

BE: SENL(SYHYLN/ S - 5E)
SE RSPl [TE (Sr9): 1)
SA - @ SRUEH) - IR - BAS Ofl st Iy HI DS
OZFE shl2e] B2 U SZAS FUISA
EEESSInEE) 50,0002 * 60 30,000 0 30,000
x 15,000 0 15,000
Al 15,000 0 15,000
OB4B 5212] 2B AN A2 FHIBA
(SExZRe3) 50,0002 * 200m 30,000 0 30,000
= 15,000 0 15,000
Al 15,000 0 15,000
OOEP MBIR| 20 SXIBA
213 200,000,002 * 141 * 99.28/100 198,560 99,100 99,460
OOHEP! ©E12| DI20! AIEHIBA
750,0002! * 40 30,000 0 30,000
OoHHE @22l BB ARIFHIBA
50,0002 * 40 20,000 0 20,000
OOHEP! Ol Bi42 HHIBARl 321(SH
ESSInLE) 70,0002 * 1,000m 170,000 0 170,000
= 85,000 0 85,000
Al 85,000 0 85,000
OoHEpl LiZel EEASH FHIA 2 22
(S2xzDe3) 350,0002 * 200m 70,000 0 70,000
x 35,000 0 35,000
Al 35,000 0 35,000
OZEe B2 Hi42 FUIBA 9 321(SY
ESTE Y 50,0002 * 1,000m 150,000 0 150,000
x 75,000 0 75,000
Al 75,000 0 75,000
0= LiH2l 52 OLAR SUMSIIZAF
EEESSInEE) 90,0002 * 700m 63,000 0 63,000
x 31,500 0 31,500
Al 31,500 0 31,500
O=8H R8e DWHBAHSEZZDEI)
2,000,0002 * 10 120,000 0 20,000
x 60,000 0 60,000
Al 60,000 0 60,000
O=B0 (1E22] S2ZAR U Bi42 FHISA
EEESSInEE) 40,0002 * 90 36,000 0 36,000
x 18,000 0 18,000
Al 18,000 0 18,000
O SR SRTIBA(SEZHDTI)
30,0002 * 120 36,000 0 36,000
= 18,000 0 18,000
Al 18,000 0 18,000
O=Z0 P12l 52 ARIFHISA
1,000,002 * 40 40,000 0 40,000
O=EZ0! NS12l VLB 42 JHITA
100,002 * 400m 40,000 0 40,000
OBHAIE! AbEI22] S8 012 DH20H FHIBA
9 M4 B2 HHIZAL 200,008 * 200m 40,000 0 40,000
OSHAie! S0Hde) AUMEISYR 012 S2TF
ZAF QI 1HA BIAZ HHIZA
20,0002 * 200m 40,000 0 40,000
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SN 2AaD
BE: SENS(SYHYLL/SY - SE)
SE HE=E e (Sr9l: @
A - 3 - SR(ZH) - MRANY - BES Oll &+t JIEN HwsZ
OBHIel Sde] CEAR o2 132 AxSA
50,0002 * 200m 30,000 0 30,000
ORAB AR12| &4 HIHZ FHIBA
750,002 * 40 30,000 0 30,000
ORAB AR12| HOIB OLAR HMPIIBA
40,0002 * 1,000m 40,000 0 40,000
OSHp L212] Y2 Hi42 HHIBA(SY
ESSmEE) 125,000 * 320m 40,000 0 40,000
= 20,000 0 20,000
Al 20,000 0 20,000
ORAp 2R02| DB SZTHTBASEXH
n=3) 20,0002 * 250 50,000 0 50,000
= 25,000 0 25,000
Al 25,000 0 25,000
OSApE AF52| MHOIZ SZAR! FHHISA
EEESSInEE) 60,0002 * 100m 60,000 0 60,000
S 30,000 0 30,000
Al 30,000 0 30,000
ORAB Q2] SHBRFE ARITHIBA
(SExZNe) 80,0002 * 100m 80,000 0 80,000
= 40,000 0 40,000
Al 40,000 0 40,000
03 Al& = CHH| 26,004 25,554 540
OOIHEl MBiR| 20| AXIBA
23 200,000,002 * 144 » 0.72/100 1,440 90 540
S0EZZAY 5,015,000 2,390,000 2,625,000
401 Al&BIL2CHY| 5,015,000 2,390,000 2,625,000
01 A&t 5,015,000 2,390,000 2,625,000
OBHIE! BA1R|(BIZ1028) S22TRTA 300,000 100,000 200,000
—E X042 33 300,000,002 300,000 100,000 200,000
0240 S212|(MT1025) HBINZBAHIHZ)
A7 1,000,000,000%! 1,000,000 500,000 500,000
OB H(E2(2152015) HEHY L =TF
= 273 150,000,002 150,000 15,000 35,000
OZ41 BI2I(HHHR) BIS101SE S2 F|
A 2473 250,000,009 250,000 10,000 240,000
OYFYAILT2(MTI015) £2 LTETA 300,000 100,000 200,000
—EX24 33 300,000,002 300,000 100,000 200,000
SRADIY(ST055) T2 HTHTA 300,000 100,000 200,000
—EX2A 213 300,000, 0002 300,000 100,000 200,000
OZ80 (fE2I(553065) LEETA
1,500,002 * 100m 150,000 0 50,000
OHCRESA 28 F2A2el 74 C2=TH
= 1,000,000,0002 * 14} 1,000,000 0 1,000,000




